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( )L CH;CH,0OCH,CHj; and CH;CH,CH,CH,OH are examples of what
are now termed:  (4)
A) Structural isomers
B) Resonance structures
C) Functional isomers
D) Empirical isomers
E) Constitutional isomers

() 2. Which compound would you expect to have the highest boiling
point? (4)
A) CH;OCH;CH,OCH;
B) CH;0CH,OCH,CH;
'C) HOCH,CH,CH,CH,OH
D) CH;OCH,CH,CH,OH
E) (CH;0),CHCH;

() 3. Which compound is a bicycloheptane?
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( ) 4. The structures

represent:  (4)

A) asingle compound.
B) enantiomers.

C) meso forms.

D) diastereomers.

E) conformational isomers.

( ) 5. Elimination reactions are favored over nucleophilic substitution
reactions: (4)
A) at high temperatures.
B) when tert-butoxide ion is used.
C) when 3° alkyl halides are used as substrates.
D) when nucleophiles are used which are strong bases and the
substrate isa 2° alkyl halide.
E) in all of these cases.

() 6. Which is the weakest nucleophile in polar aprotic solvents? (4)
Ay I B) Br C) CI D) F

() 7. Sn2 reactions of the type, Nu~ +R-L— Nu-R+ L are favored:
(4) |
A) When tertiary substrates are used.
B) When primary substrates are used.
C) When the leaving group, L, is a strong base.
D) by more than one of the above.
E) by none of the above.

( ) 8. Rearrangements are likely to occur in which of the following
reaction types?  (4)
A) Syl reactions
B) Sy2 reactions
C) El reactions
D) E2 reactions



E) Both Syl and El reactions

( ) 9. The reactions of lithium di-sec-butylcuprate with isopentyl
bromide yields:  (4)
A) 2,5-Dimethylheptane
B) 2,6-Dimethylheptane
C) 3,5—Dimethy1heptarie
D) 3,4-Dimethylheptane
E) 3,6-Dimethylheptane

() 10. Which of the following would you expect to be aromatic?  (4)
+
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11. Draw structures corresponding to the following IUPAC names: (20)
(a)4, 4»Di1nethy1pent;2-ene

(b)p-lodonitrobenzene

(¢) trans-3 -Ethylcyclohexanol

(d)Ethyl isopropyl ether

(e)3, 5-dinitrobenzaldehyde

(f) Acetamide

12. Please fill in the missing reagents a-f in the following scheme: (20)

CHO CH,0H CH,Br
0

l
CH,NHCCH,

CH,NH, =
Lo SN |
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CH,NHCCH, CH,NHCCH,
/
O,N HoN



13. Carvone is the major constituent of spearmint oil (#k i 47 vk ). What

products would you expect from the reaction of carvone with the

following reagents? (20)
(a) LIALH, / H,0"  (b) CHsMgBr/ H;0"  (c) Hy/ Pd catalyst (d)

CH,OH/H".
O

\>——‘<§'— Carvone



